2021 % 4 #

My 3 38 IR

HEHA LA

Maple 7£ H =4 3 2 % B B9 B2 FH

HEBRARNA

(BIRILRUBRIFEERAR Z# A0
(W Fs B .2020 - 09 — 29)

# B

230041)

OB X ECE A Maple B9 PR DI RE SN SR 2 T i s Wy B 2 AR P FEAT SR WSS TN — R

FRO A R R T S D E L AR A A B 37 B S SRR R AR R A B S

F B 7 2 R SR g R B PR A R R S T D e A T RE S W R R A B B R B R E S s Ah L AR
-

AR T TR T XU TP Y G5 A AR AT R L K Maple BT b s ) BECE O BT A

XEW AT SHA EFRT BEIm

1 3]

ill}

75 H R R4y Bl B v B 200 AT fE 2
W — BN T8 A b B ) R B, Bk R B
NN T AT BRI B PR rp, O BT 2 AR 2 Y
I T RO S R B T B I o R 2 R AR O 5
[, LAZE 08 B R P A R DA% 2t B ]
NGB K A T SE MR T R PRI RCR 5 L. [H]
I, 3732 AR 0 2 SR AERE D AN, S EON IR AL 1Y
L& ME LB L AT A Z ) BE 2 K 25 ) 6. ik b
X Ly LS ) 38 R 2 52 B B LS B 2% 1 B o
LM RORAAE Y =AML S B, e, S BT W
A Xk 52 36 D R LA B A R R SRR LR L R IR
ZIWEN 42

Maple # 2y 42 BRJE [ 9 782 081 B A RS 44 10
BOEEAF R BCE R 28R B RA R
RGBT DI RE LA L REAS T AL 45 P BT 5 e
KA BFEFF 4. A SCLL Maple 84 8 -F 5, 23 %l
LGN N SR 2 e A VRRE Bl R /B RS S ST AY TRE
Z o, BT B 1 Maple 8 A9 48 1 >k 35 248 T+
Her R H Y.

2 HSREDEEHNFHHINA
Maple 15 09 B JF A 5 # 58 R B4 5 15

TEE B 55 (1992 -
— 102 —

BT

RE 77, R D 1 A7 P A0 R oK i L PR G2 B L R i
TER AR L JF B fr A X5 5 Oy UR & 4U T
R TC S B LLRRASR OB B ALY R BT S S0 A
Ut AT LUK Maple 7 FH 2104 328 X #E 5 5 05 R 1Y)
Kffz .

BEXT T AF K i 5 Bl T 2R R FR 43 A,
I 7 AR AT O S B DL % 7 B 6 R A TR AR
Jei s X ik 2 3 1k 3 SR A A e AR B TR O K
PEAT SR g ¥ 5 BEAE B K A |) EL AT RE & A A 1R 4
. O, A] DLl 3t Maple #8945 53 & 0 g
o 1 A SR At i AR 2 6 E T A5 45 SR A E AR k. R 1
DL — 18 3 B 938 75 Maple A8 H SR ff i 72

[BIREY W& 1R, i oA m, 0 8HTE AT 76 6T
7KV T b 3l OF B o [FI BT R m
(32 3l 51 5 R 22 (8] 78 G B8 482 . SR 3B 2l 5 A % Rk e
PRI T HE o Ak T ) R A

1 B3 BTER I _E Yz 3

DR O U N o R [ e R e U R



2021 % 4 #9 32 38 4R HAREAR R
B Ye @S AAR RIFXT my Ao, BT 100 AT Solution2; = (algsubs(cos(alpha) 2=1 — sin
mE 2 Frs. (alpha) 2,simplify(solution2))assuming(alpha <<
y Pi/2and0 < alpha,0 << m[l] 0 <<m[2],0<<g,

B2 it

AL R
— Fyisin a =mya,, [@D)
Fyicosa—mig=ma, (2)
Fyisin a =mya,; (3)
Fne —myg — Fynicos a =0 4)

B3 RSN B R [ €S T ) VAR (A | R B
(9 8 249 T LA 32 B B30 AR AT 114 B2 9 T 81Ok AR

tana:alaja? (5)
SR 5 F5) H 2 Bl SR R Y R 2 =
a=+(a,; —a,)" +d (6)
i id Maple #OPFBESZ (D) ~ (6) SR il
A BE S AR R .
eql: =—F[N1] * sin (alpha) =m[1] * a[ x1]:
# X ml 7E x J5 [ 5 4 it iz 5l 5 7
eq2: = F[N1]* cos(alpha) — m[l]xg =

m[ 1] alyl]: # X ml £ y J5 m 304 iz 3 #

eq3: =F[N1] * sin (alpha) =m[2] % a[ x2]:
X m2 78 x 75 [6) 9 4= s 5l 7 fe

eqd: = FIN2]—m[2] * g—F[N1] * cos(alpha) =
0: % X m2 7 y Jr g 4-iiia 2l s 7

eq5: = tan(alpha) = a[yl]/(a[x1] — a[x2]):
#ml 15 m2 RHE 1B 3l 0 B e 5 5C &R

eqb: =a=sqrt((a[x1] — '1[)(2]) 24alyl] "
2): % H iz g GO T A4 T A

Solutionl: = solve({eql,eq2,eq3,eq4,eq5},
{FIN1J.FIN2 ] a[x1].alx2].alyl]})s # SR fi#
2 AR 7 55 W3RRGS T b T Y o 3

solution2: = subs(Solutionl,eq6): # ¥ I 2
A eqb 14 35z Bl 53 A XS T A4 T R R/

m[2] << m[1])); % FIEATR I H 15 3] F 20

ik
B RS2 17 5 T A5 3 ESySR
Solutionl :
Foo— m,m, gcosa o, = (m, +7n2)g
M sinfa +my, m, sin‘a + m,
. - m, gsin acosa _ m, gsin acosa
-t m, sina +m, m, sin‘a + m,
" _(my+my) g sin’a
o m, sin‘a + m,
(7
Solution2:a = (7, er)) gsin a (8)
m, sin‘a + m,
M7 ~ (8) By FRIR AT+ Fo e i o 4% 28

Fr 8225 B I 9% 01 BAT — E RS RN Tk
Y. Maple B 52 AE PR 75 21 5K A 75 72 45 B 1E 6 (1932
AR XAERIE S TR BT R, B, X U
M Maple B AE R fife ST H I i 4 1) 2 22 1)
BRI,

3 Rt R EFE R

Maple B AUG C i F —H B A 5835 1 i 2

W S RN TG R B A B A
AR A= T A 4 B L, AT RUAE 5 {3 4t 2 A
AR TS EEZE A Maple B9 BEHLEO™ 2 s AL rand
PEAT G AR AR T BB R A Bl ok S SR Y
YRR IR AR W 5 73 5 MU B2 g 14 DXk ] fE ok

JE DX SR G B B E 2] 03 AT 9 BLAR L 1 An 46 4 AL L
M e e R A ﬁﬂ—‘ﬁ%liﬂﬂﬁi%ﬁé@*ﬁ?%ﬁﬁﬁ
A5 S AR TE LI G2 Bl T S B0 T RS Y
B4 I HL R I 0 T *J?E‘J%%U"JZZJJH&?E
SRR Z TN DR R A AT () B AR R Y
A R UL L 12748 A S B R 3R L B3, B AR it
BRI 3G e OF B TR B BB A O — AR R g
i AR AR s e RE A8 L ST TG S R b A R 0 7 Y
P X WA P2 HUM M HoA K SR . #
— 103 —



2021 5% 4 #

My 3 38 IR

HAHAEA

U AT DL 5 Maple 805347 g B2 A H 4 BOR 1)
Sl 0 LR SAR R 7 2R R Y BN S TR A AL

HSEHH Maple 9 BEPLE™ 4 B EL rand, I3l
T A B2 e ) R AR 8 6 N A 23 B B[] T
T ks, I HLOH RS 2l 3 B ke bR, OC HE M 1Y i
AR TR

Random: =rand(0..180) # & il MiALE 2 H
Random, 3f H. ik HFEHLE™ 4 935 I 7E 0 2 180 2
[i1]

Seq(Random (i) ,i=0..100); # &k LA
77 A )

X|Inli]:=X||n[i—1]4(/100) * evalf(2 *
cos(Random(X | | n[i—1]) * Pi/180)); # 7E45 i 1K
PEA X T8 n b8 B R X0 AR, 2 1
X[i— 1] 2846 T (i/100) * evalf(2 * cos(Random (X
| nli—1]) * Pi/180))

Y ||n[i]l:=Y || n[i—1]4/100) * evalf(2 *
cos(Random (Y || n[i—1]) * Pi/180)); # 4 i Ik
PEF X T4 n R I8 B R YL bR, T2 1
Y[i— 1] 2246 T (i/100) * evalf(2 * cos(Random (X
|| n[i—1]) * Pi/180))

FH 3 OGP 1 i 2 PRI A H
DI 29 iz shahm, an sl 3 fros.

(CEZ Ry a)

10 10

5 000 s ‘s§ o

& 00 @ y o @ ©
cee ‘9 el

- ® 000 . * &

-15-10 -5 0 5 10 15

()t =0

v

=15=10: =5 0, &5 10.dS
()t =98

-15-10 -5 0 5 10 15

(b)t = 34

-15-10 -5 0 5 10 15

(e =189

B3 ORI 23 B4

— 104 —

ML 3 BT LA 24 4 [/ BR $5 B i 2 )
16 /N Bkt 23 5 36 A 8 07 ) LUAS A ) R BE RS 8l T
J& 16 AD/NERE 2 PUHOT K L IF BB /N R 132 3l
B rh AT U H /N BB 52 2 A SO BIN 9 $KoE g
ML - 7 8 A= (8] B DU 75 72 7 742 K. it
G121 50 S Y A AR Gl R e, AU 1 T S
B AR G /INER T LI 1) 328 8 o 3R 328 9 A O, ik 4
FREAR ST AR M A,

4 BERZhEERFPRINA

Maple (4 FIE 2l i) 11 2 BE AF 58 K. A {LAE
22 1 T g o A R TR A e R A A M AR 2k T
e G T B9 R R A5, O L BE A 2R BB R
FHE gl A i AR BT A 1 32 B EDE
BefFan & R BN T A2,

HL 3 A Dy — A G i S AR A B R R 5
JESA R A ) T R B — A ELE RN AR R X T
UM VL L BE 76 A PR A4 PR &2 I (8] Bk 2% 42 AN
WERAH BT IS IZ AR A X E AR 1
HOW B e T 57 R R IR, (B IR IR G A
Jove e O A AR 2z 1 A LS L Y L 3 1 L 3
2 5 AR DL AR IR I SR LR H 3 (R AR TS
LR A OEIE 0 1 HL 3, DT 52 i 27 2R X L 3
PR A )RS T G, AT U Maple fil £ H B4
B X 1 L B TR R 3R B R R L .

BT BAG M < X T L R U B A
MEEHERITRIE E FE S o BT 4 i
Hh A E A TR LA 3 R RE A 5L T AR R TR E
PRI SRR A 1 P A S 2 B DRI o 4 )
AN LA TN QM Q. B R A L 7 =S [R]
S R R

o=k 2L+ 9 (9)

Hor ke BECHEE - A e, 23050 2B
1] B BE . AR5 RS AL o SRTUBR B B AEAS B L )
SR E MR

E,=—2% E=-% (10)
dx dy

SRIG B E Maple 470 FA0HS .
restart; with(plots) ; with(plottools) ;
with(VectorCalculus) ; # W Z I R AMKE TR &=



2021 % 4 #

My 3 38 IR

HEHA LA

s FAR T

V.= Q1]/sqrt((x—x[1]) 2+ (y—y[1]D 2)+
Q[2]/sqrt((x—x[2]) 2+ (y—y[2]D 2); & FH
FEFTE AL AR & P A T (x[1 ], y[ 1D By S i QL1
AT (x[2],y[2]) By s far QL2 78 -F M4 s ™
AR T R IA

E: =Gradient(— V,[x,y]); # il i3 Xt L $oR
HE B R A5 3 - 11 A% A F 37 0 B Y ik X

NE: =Normalize(E.2); # Xf B 3738 £ (1) 3 5
X AT IH— b 3

Explore(display([ disk([ x[1],y[1]],0. 3,color =
blue),disk([x[2],y[2]],0.3,color=red) ],

Xy ' -2
-3 0 3
AR HHL 1177
ALK 1277
N ’ NN Y,
3 0 8 AN SNV
SAAA 1T S
SAAA X FLr”
KA iy LAr”
Xy v 2 SRR INAXN F a2
3 0 3 SRR | ZAZAKKN Y fr e
n—o—n.\‘/»a x&\*w
e I G, il "~
ZIIARE
o« 5 e
%2 v O PRIV T TEEVSRSN
-3 0 3 PeeeR AN\
A SRR
L L FEAVINAN
q v Y SR
'S 0 5 1711l { RN
Q, v 2
5 0 5
Ca) 45 it [R) 4 /N H
X ] -2
-3 0 3
A 4 tLLL AT
v v o NANKER SESSANY Y
1 NNAKY ] L1277
3 0 3 CXAAA 1 EErzz
XA , L1722z
A P17 172777
<N\ L1 \Y122727~
x, [ ] 2 ssRNN\A 27272088\ 22 rmm
-3 0 3 e AT A S A el
e /aa/'\kk\xa—u—‘—o
0 NN 2 NS
y. ] o crd L] IANNYMNEL L) PNNNSS
2 ESLAR Y s VA NN
-3 0 3 L d ] 1 VAN
LA d ] VANSN
LA AdAd ) VNN
o s 2eiiti EREION
' f ! 77T E SEENNN
q, |

-5 0 5

(o) A5 datk [ 4 K v i

fieldplot(NE,x=—4..4,y=—4..4,thickness=2,
arrows = SLIM) ,implicitplot({seq(V = 1/10 * b,b= —
28..28)},x =— 4..4,y =— 4..4,numpoints =
5000, color = green, thickness = 2, linestyle = 1)) ,
parameters =[[ x[1]=—3.. 3,placement = left ],

[y[1]=—3..3,placement=left ],[ x[2]=—3..3,

placement = left], [y[2] =— 3..3.placement =
left], [Q[1] =—3..3,controller = volumegauge,
placement = right |, [Q[2] =— 3.. 3,controller =

volumegauge, placement =right] ) ; # HI/EH WA
ST Y L A 4 S A AR T AT B FH R R A S
f 7= A B R R L 2 5 AR AR KR, A 4 B,

Xy ] 2
3 0 3
i f 722240~ )
y [ ] 0 ‘i ’f//'/'—v-o:\\\\ i ;f
! N 1122272 N /
” ’ ’ S22 TN 0
KAAX P A2 SN 1y
N 222NN L L L
X, ] 2 NRKAAN P A A ST T
3 0 3 e 1 S S AN g
““ﬂf*“ﬁ%$¥
:3/ b A \;CEM//' SRR
v v R A B e IS ; AR
2 LA LT NN 2T AR
3 ° 8 L4 NN 22 YAN
s VNSNS 2 22T TAAN
e NANNTr 2 2T A
e v fi WEES5 3‘
2 \———,
o 0 5 ! : NNt r 22 7 f }
Q, L -2

(b) G543k 5 L Ay

x, ¥ -3

4
A=\ Vire'd
R DAL E Tt
A SN L e

Y
Y v -1 ;

7% e
Vel memta P

2

s

-3 0 3

X, ] 2

N

2

3

N

N

W
[Na~erre &
P ~e,
[,
7,
—~
o

Pabatate /'T, ; Sy

aag/ﬁ/' /'g' /7 ;
aanaclaatal
I e e o e S e
'\ \ \\.\\.r-.——-—wa///
NN NN et
e~
AN AN St
5 e S NENCNCUCICUEN IR
VN A A N SN S S

P P30 AN S A
S N )

;.V-
§
N

SR AR R\
—— W R

T

o

'S

o

7

d

(d) A FR S 1 el A

(IR 7E SR 2

HH 4Ca) 5F 4(b) 435 8w H & & [E P E
HA fof 15 45 i S MR fp P AR B L I AR S A LR, e

S o Nl o S == R e S e T < )
HH, 37 55 55 H 3, [R) IR ] 4 () SR 4 (o) AT X |

— 105 —



2021 % 4 #

My 3 38 IR

HEHA LA

AR 2 g A P R A e ) R (]
DR A5 ] A v ey A R R i BRSO ) e (B TR 25 A 2 i
A BT 3 [ R A R e Y 8 IR T A TR
4Cd) v I AN X R Y A S R A B R e R
JIrAE A3 L DN AT UL 8 A AR A v B R 2 R S i
HL AT

Pt o bk Br i BT AE 1B 4 R
Maple P il 11 H 4 L 3 P HL A B8 1) X 1 45
AR S DA T B B0 4 TR R A M T % R 37 O P
BEAh B BAT B R 1 52 X IR i 4 n] DL
A AT A WS T B A o B B

5 HETEEXFFHINA

Maple fr T A &G KW 5285 RZAEZ I, i
AE RIS B EIT RS I H e s
& 5000 2T A & ] Bt A T EAT AL R
T4 ) Maple B0 9 BUE T D RE R THRXSE +
Wb DGR S

FE T - A I WLEE T W5 LI A W B b e 3R
LIz —, O EA P 1 B . [
B R P DG A B e S A RS 4. JF B
TEIZ S0 R AT 3 B 2 Wi B 2% S0 BTG o2 5
Vi B AR R S o R T R RN . HoR B
5 PR,

Bl 5 XUEET ¥R R
AR SCHRLS ] w3 H i B b 2 S lal B 5 45 10k
LN W)

Ax =—2A (1D

L
d

I =41, cos® %@

Hoh Ap 2N S, 1S, K P0G 3 ik 30k
— 106 —

12

Bt b PSRRI 22, HE R LR 3 SRk

2
r = (1*%) + 1 (13
nz/@+%y+ﬂ (14)
Aggzzn(ri\;’”l) (15)

SR 5 FiE 3 Maple B AR5 A LT ACHS

Restart; with(plots) : with(plottools) : # & &
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